



Agenda Item Executive Summary

Item Name 2021 Pavement Marking Project Committee or Board Board

BUDGET IMPACT

Amount: \$25,000.00 (not to exceed) *Budgeted* \$25,000.00

List what fund MFT Fund

EXECUTIVE SUMMARY

On February 23, 2020, the DuPage County Division of Transportation held a bid opening for 2021 Pavement Marking Maintenance. Precision Pavement Markings Incorporated was awarded the contract and agreed to extend their unit prices (as shown on the attached bid tabs) to the village of Bartlett for our 2021 Pavement Marking Project. Prices were compared with the Suburban Purchasing Cooperative's contract winner for pavement marking maintenance and Precision Pavement Markings Incorporated was found to be the cheapest.

Precision Pavement Markings Inc. is a well-known pavement marking contractor in the Chicagoland area and in my dealings with them in the past, I have found their work to be satisfactory.

I recommend using Precision Pavement Markings Inc. for the 2021 Pavement Marking Project in the not-to-exceed amount of \$25,000.00. Any remaining funds will be returned to the MFT account to be used at a later date.

ATTACHMENTS (PLEASE LIST)

Memo
Bid Tab
Resolution
Agreement

ACTION REQUESTED

For Discussion Only

- ✓ Resolution
- Ordinance

✓ Motion: MOVE TO APPROVE RESOLUTION # 2021-____-R, A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 PAVEMENT MARKING PROJECT AGREEMENT BETWEEN THE VILLAGE OF BARTLETT AND PRECISION PAVEMENT MARKINGS INCORPORATED.

Staff: Nick Talarico, Civil Engineer

Date: 8/30/2021

MEMORANDUM

To: Paula Schumacher, Village Administrator
From: Nick Talarico, Civil Engineer
Subject: 2021 Pavement Marking Project
Date: August 30th, 2021

On February 23, 2020, the DuPage County Division of Transportation held a bid opening for 2021 Pavement Marking Maintenance. Precision Pavement Markings Incorporated was awarded the contract and agreed to extend their unit prices (as shown on the attached bid tabs) to the village of Bartlett for our 2021 Pavement Marking Project. Prices were compared with the Suburban Purchasing Cooperative's contract winner for pavement marking maintenance and Precision Pavement Markings Incorporated was found to be the cheapest.

Precision Pavement Markings Inc. is a well-known pavement marking contractor in the Chicagoland area and in my dealings with them in the past, I have found their work to be satisfactory.

I recommend using Precision Pavement Markings Inc. for the 2021 Pavement Marking Project in the not-to-exceed amount of \$25,000.00. Any remaining funds will be returned to the MFT account to be used at a later date.

MOTION: MOVE TO APPROVE RESOLUTION # 2021-___-R, A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 PAVEMENT MARKING PROJECT AGREEMENT BETWEEN THE VILLAGE OF BARTLETT AND PRECISION PAVEMENT MARKING INCORPORATED.

DuPage County Division of Transportation
 Project: 2021 Pavement Marking Maint. - Sec. No: 21-PVMKG-09-GM
 Date of Letting: February 23, 2020 2:00 P.M.

Item No.	Items	Unit	Quantity	Engineer's Estimate		Precision Pavement Marking		Superior Road Striping, Inc.		RoadSafe Traffic System, Inc.		Maintenance Coating Co.		STF LLC dbA Traffic Control	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ.FT	20000	\$3.85	77,000.00	\$3.69	73,800.00	\$3.75	75,000.00	\$3.80	76,000.00	\$4.50	90,000.00	\$4.80	96,000.00
2	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	40000	\$0.55	22,000.00	\$0.50	20,000.00	\$0.50	20,000.00	\$0.75	30,000.00	\$0.50	20,000.00	\$0.55	22,000.00
3	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	71300	\$0.83	59,179.00	\$0.75	53,475.00	\$0.75	53,475.00	\$0.80	57,040.00	\$0.85	60,605.00	\$1.20	85,560.00
4	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	FOOT	11600	\$1.15	13,340.00	\$1.00	11,600.00	\$1.00	11,600.00	\$1.75	20,300.00	\$1.20	13,920.00	\$1.60	18,560.00
5	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	46000	\$1.60	73,600.00	\$1.50	69,000.00	\$1.50	69,000.00	\$1.90	87,400.00	\$1.50	69,000.00	\$2.40	110,400.00
6	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	8500	\$3.90	33,150.00	\$3.69	31,365.00	\$3.75	31,875.00	\$3.80	32,300.00	\$4.75	40,375.00	\$4.80	40,800.00
7	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	FOOT	490000	\$0.29	142,100.00	\$0.19	93,100.00	\$0.20	98,000.00	\$0.25	122,500.00	\$0.30	147,000.00	\$0.25	122,500.00
8	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ.FT	360	\$5.50	1,980.00	\$5.00	1,800.00	\$5.00	1,800.00	\$10.00	3,600.00	\$5.00	1,800.00	\$9.87	3,553.20
9	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	6000	\$0.60	3,600.00	\$0.50	3,000.00	\$0.50	3,000.00	\$1.50	9,000.00	\$0.72	4,320.00	\$1.50	9,000.00
10	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	FOOT	2600	\$1.00	2,600.00	\$0.75	1,950.00	\$1.00	2,600.00	\$2.50	6,500.00	\$1.25	3,250.00	\$2.47	6,422.00
11	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	FOOT	100	\$1.35	135.00	\$1.00	100.00	\$1.25	125.00	\$5.00	500.00	\$1.60	160.00	\$3.29	329.00
12	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	FOOT	1100	\$2.20	2,420.00	\$1.50	1,650.00	\$2.00	2,200.00	\$5.00	5,500.00	\$2.25	2,475.00	\$4.94	5,434.00
13	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	300	\$5.70	1,710.00	\$5.00	1,500.00	\$5.00	1,500.00	\$10.00	3,000.00	\$5.00	1,500.00	\$9.87	2,961.00
14	PAVEMENT MARKING REMOVAL - GRINDING MARKER	SQ.FT	124600	\$0.43	53,578.00	\$0.30	37,380.00	\$0.30	37,380.00	\$0.25	31,150.00	\$0.73	90,958.00	\$0.50	62,300.00
15	RECESSED REFLECTIVE PAVEMENT	EACH	500	\$24.00	12,000.00	\$18.00	9,000.00	\$30.00	15,000.00	\$40.00	20,000.00	\$25.00	12,500.00	\$45.00	22,500.00
16	REPLACEMENT REFLECTOR	EACH	500	\$11.00	5,500.00	\$9.00	4,500.00	\$10.00	5,000.00	\$10.00	5,000.00	\$12.00	6,000.00	\$14.50	7,250.00
17	TRAFFIC CONTROL AND PROTECTION	L.SUM	1	\$5,000.00	5,000.00	\$1.00	1.00	\$1.00	1.00	\$25,000.00	25,000.00	\$20,000.00	20,000.00	\$92,300.00	92,300.00
18	MODIFIED URETHANE PAVEMENT MARKING - RAISED MEDIAN	SQ.FT	3,000	\$4.80	14,400.00	\$2.89	8,670.00	\$3.00	9,000.00	\$5.00	15,000.00	\$3.75	11,250.00	\$10.00	30,000.00
Bidder's Proposal for making Entire Improvements				\$523,292.00		\$421,891.00		\$436,556.00		\$549,790.00		\$595,113.00		\$737,869.20	

RESOLUTION 2021 - _____

A RESOLUTION APPROVING OF THE VILLAGE OF BARTLETT'S 2021 PAVEMENT MARKING PROJECT AGREEMENT BETWEEN THE VILLAGE OF BARTLETT AND PRECISION PAVEMENT MARKINGS, INC.

BE IT RESOLVED by the President and Board of Trustees of the Village of Bartlett, Cook, DuPage and Kane Counties, Illinois, as follows:

SECTION ONE: 2021 Pavement Marking Project Agreement dated September 7, 2021, between the Village of Bartlett and Precision Pavement Markings, Inc. (the "Agreement"), a copy of which is appended hereto and expressly incorporated herein by this reference, is hereby approved.

SECTION TWO: That the Village President and the Village Clerk are hereby authorized and directed to sign and attest, respectively, the Agreement on behalf of the Village of Bartlett.

SECTION THREE: SEVERABILITY. The various provisions of this Resolution are to be considered as severable, and of any part or portion of this Resolution shall be held invalid by any Court of competent jurisdiction, such decision shall not affect the validity of the remaining provisions of this Resolution.

SECTION FOUR: REPEAL OF PRIOR RESOLUTIONS. All prior Ordinances and Resolutions in conflict or inconsistent herewith are hereby expressly repealed only to the extent of such conflict or inconsistency.

SECTION FIVE: EFFECTIVE DATE. This Resolution shall be in full force and effect upon passage and approval.

ROLL CALL VOTE:

AYES:

NAYS:

ABSENT:

PASSED: September 7, 2021

APPROVED: September 7, 2021

Kevin Wallace, Village President

ATTEST:

Lorna Giles, Village Clerk

CERTIFICATION

I, the undersigned, do hereby certify that I am the Village Clerk of the Village of Bartlett, Cook, DuPage and Kane Counties, Illinois, and that the foregoing is a true, complete and exact copy of Resolution 2021 - _____ enacted on September 7, 2021, and approved on September 7, 2021, as the same appears from the official records of the Village of Bartlett.

Lorna Giles, Village Clerk



Local Public Agency Formal Contract



Contractor's Name

Precision Pavement Markings, Inc.

Contractor's Address

1220 Bell Court

City

Pingree Grove

State

IL

Zip Code

60140

STATE OF ILLINOIS

Local Public Agency

Village of Bartlett

County

DuPage

Section Number

21-00000-04-GM

Street Name/Road Name

Various

Type of Funds

MFT

CONTRACT BOND (when required)

For a County and Road District Project

Submitted/Approved

Highway Commissioner Signature

Date

Signature and Date boxes for Highway Commissioner

Submitted/Approved

County Engineer/Superintendent of Highways

Date

Signature and Date boxes for County Engineer/Superintendent of Highways

For a Municipal Project

Submitted/Approved/Passed

Signature

Date

Signature and Date boxes for Municipal Project

Official Title

Official Title box for Municipal Project

Department of Transportation

Concurrence in approval of award

Regional Engineer Signature

Date

Signature and Date boxes for Department of Transportation

Local Public Agency Village of Bartlett	Local Street/Road Name Various	County DuPage	Section Number 21-00000-04-GM
--	-----------------------------------	------------------	----------------------------------

1. THIS AGREEMENT, made and concluded the 7th day of September 2021 between the Village of Bartlett, known as the party of the first part, and Precision Pavement Markings, Inc., its successor, and assigns, known as the party of the second part.

2. For and in consideration of the payments and agreements mentioned in the Proposal hereto attached, to be made and performed by the party of the first part, and according to the terms expressed in the Bond referring this contract, the party of the second part agrees with said party of the first part, at its own proper cost and expense, to do all the work, furnish all materials and all labor necessary to complete the work in accordance with the plans and specifications hereinafter described, and in full compliance with all of the terms of this contract.

3. It is also understood and agreed that the LPA Formal Contract Proposal, Special Provisions, Affidavit of Illinois Business Office, Apprenticeship or Training Program Certification, and Contract Bond hereto attached, and the Plans for Section 21-00000-04-GM in Village of Bartlett, approved by the Illinois Department of Transportation on _____, are essential documents of this contract and are a part hereof.

4. IN WITNESS WHEREOF, the said parties have executed this contract on the date above mentioned.

Attest: The Village of Bartlett
Local Public Agency Type Name of Local Public Agency

Clerk	Date
<input type="text"/>	<input type="text"/>

(SEAL)

Party of the First Part	Date
By: <input type="text"/>	<input type="text"/>

(If a Corporation)

Corporate Name
<input type="text"/>

President, Party of the Second Part	Date
By: <input type="text"/>	<input type="text"/>

(SEAL)

(If a Limited Liability Corporation)

LLC Name
<input type="text"/>

Manager or Authorized Member, Party of the Second Part
By: <input type="text"/>

(If a Partnership)

Partner	Date
<input type="text"/>	<input type="text"/>

Attest: Secretary	Date
<input type="text"/>	<input type="text"/>

Partner	Date
<input type="text"/>	<input type="text"/>

(SEAL)

Partners doing Business under the firm name of Party of the Second Part

<input type="text"/>

(If an individual)

Party of the Second Part	Date
<input type="text"/>	<input type="text"/>